20piIn

VEwSI Ea—X CN2
250mA 60V ca -+ C1 c2 18
at SsRID- _L o | VCC+bV
10u
PS1 = °-1r Fo! 1920, | an
() 3| a2
RO =
L VCC vCC 16
470 = © |RESET#
NFM18PC—105R0J3 a6 e 3 15
cs8 AVCC 3V30UT 1 e | +3. 3V
EM1 0.1 == Lo.1
1 — s 41 13
usB — PWRENZ# ° | PWREN#
2 R1 24 1
I d Wy USBDM ADBUSO 3 o1 ADBUSO
3
22 AV USBDP ADBUS1 . S ADBUS1
pa\
33 x2 | ADBUSZ [~ T ADBUSZ
5 = 1
mini B k3 |5 ADBUS3 ADBUS3
RSTOUT 20 5
_L ea 1. 5K ADBUS4 S - ADBUS4
L 1
CN1 == R10 = ADBUSS ADBUS5
a 17 7
4. 7K RESET# ADBUSS ADBUS6
L 16 8
= R11 ADBUST ADBUST
15 9
7 10K ACBUSO ACBUSO
13 10
ACBUS1 ACBUS1
12 11
ACBUS2 ACBUS2
R4 43 11 12
X1 XTIN o
T ACBUS3 o 2 ACBUS3
w702 = M S1/WUA o | S1/WUA
emHz | T XTOUT 14 ) 17
aa VCCI10A 1 ° | VCCIOA
L R7 10K To 1
IC1 . -
FT2232C 13
° | PWREN#
av 40 1
TEST BDBUSO ° | BDBUSO
39 2
== BDBUS 1 ° | BDBUS1
as 38 3
AGND BDBUS2 © | BDBUS2
37 a
== BDBUSS3 BDBUS3
36 5
BDBUS4 BDBUS4
35 6
BDBUSS BDBUSS
33 7
BDBUS6 BDBUS6
32 8
BDBUS? BDBUS?
30 9
BCBUSO BCBUSO
RS 29 10
EEPROM 10K BCBUS1 o5 11 BCBUS1
BCBUS2 BCBUS?2
R6 27 12
4 2 oK BCBUS3 o A BCBUS3
DO
8lvee S1./WUB S1/WUB
o1 |3 2 |eepATA 31 i
c5 VCCI10B 1 ° | VCCIOB
0.1 5 cnp < 2 1|eesk R8 10K c6 To.1
cs|t 48|EECS 15| o |43 3y
= 18
e | VCC+BV
16
I1C2 TS20 © | RESET#
0aoaao .
93C46 zZ zZ Z Z — | GND
G 6 0 6
NEEE
CN3 20piIn
oAy e

usB2232 11




